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SIXTH SEMESTER B.TECH. (ENGINEERING) DEGREE
EXAMINATION, JUNE 2008

€S 04 604—GRAPH THEORY AND COMBINATORICS
Time : Theoe Hours Maximum ; 100 Mrks
Ansuer al guestions.

L () Define planar graphs with suitable oxamples.
(6) Explain Chinose postman problemn.
(© Defino ecconticity, radius and centre of  tre,
(@ Find the articulation points and biconnected compornents of the graph given below

—< A
-

(©) For each intogor n > 0.
Prove that :

o G
w(HCH - on

(0 1n how many ways ean the letters in the word MISSISSIPPI be arranged ?

248 6"
(g) Write the numeric function coreesponding to the generating function =75

() Obtain the homogencous solution of the recurrence rolation a, —a, _y - a, 3 =0, given

=10 =1
(8% 5= 40 marks)
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Show that a graph possess an Bulerian path if and only if i s connocted and has either
2o or two verticen of odd degree.

(8 marks)
(7 marks)

Explain colouring of a graph with examp]

or

Prove that a connected graph G remaing conneeted afler removing an edge ¢ from O, if
and and i ,is in some eireuit in G
(8 marks)

A graph of n vortices is a complote graph if and only i its chromatio polynomial i -
Pa) A0 1) 0BT,
(@ marks)
‘Show that a canneetod graph with n vertioos tod (- 1) edgos i a tree. (3 marke)
Find the minimum spaning treo of the weighted graph given below ©

(7 marks)

pondant vortices, (8 marks)

Find the radius and diameter of the given troe.

Vi %

(3 mark)

Detormine the number of integers between | and 250 that are divisible by any of the
intogors 2, 3 an 5.
(& marks)
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I how many ways can 6 men and 6 women bo soated in i row ©
1 1Fany person may sit next (o any other.
2 1men and women must oceupy altornate soat,
(7 marks)
o
Among; 100 students, 32 tudy mathomatics, 20 study physics, 45 study biology, 15 study

‘mathematies and biology, 7 study mathomatics und phyaice, 10 study physics and biology,
30 do not study any of the theo subjects

1 Find the numbar of studonts studying all three subjects
2 Find the number of students studying exactly ono of the thres subjocts.
(® marks)

Find the number of arrangomente of tho letters of the word “TALLAHASSEE'. How many
arrangements have no adjacont A’

s
ol e AN
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o
Bolve ar = ar — 1+ ar — 2 by the mathod of generating function. 7 marks)
o
i (U e I ' e st g = 5
o
P e o e b s ) =
(7 marks)

14 15 = 60 marks)




